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UGC10097 - K0814 | Model images @ 5635 A, PSF FWHM = 2.4 arcsec

log P

log FY

-16.2
-16.5
-16.8
-17.1
-17.4
-17.7
-18.0
—18.3
—-18.6

-16.2
-16.5
-16.8
-17.1
-17.4
-17.7
—-18.0
-18.3
—18.6

logFy"*"

-16.2
-16.5
-16.8
-17.1
41-17.4
41-17.7
4-18.0
41-18.3
1-18.6

(F)?bs _F)l\mlge . )c\lzsk )/F;\)bs

0.4
& 0.3

5 - 0.2

L 0.1
- 0.0

! L -0.2
i
e .lh#. —0.3

-0.4




log I

le—-17

F\ [erg/s/cm2 /A]

observed
disk model
bulge model
residual

=2A |0 =300.0 km/s

UGC10097 - KO814 | R — 5 arcsec | AX

-16.0

-16.5

-17.0

-17.5

—18.0

— Disk (1)
— Bulge (1)

,“.‘-,‘ ‘

20

=
Ul

— Disk (k)
— Bulge (r,)

=
o

radius [arcsec]

4000 4500 5000 5500 6000 6500

wavelength [A]



logF) [erg/s/cm? JA]

~15.5
~16.0
~16.5F \
—17.0f .
~17.5
18.0

5499 A

i1
s
s

1

0 510152025
radius [arcsec]




